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0.2
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Supplementary Material for Rousset & Leblois

Distributions of p-values, for all cases numbered as in the Tables.

Case [1]
. 2Npu=04 . 2Nm =8
o’ KS: 0.282 |°] KS: 0.287
et~ st
C_U 0.0 0.2. 0.4 0.6 0.8 1.0 0.0 0.2' 0.4 0.6 0.8 1.0
T rel.Bias, re.RMSE rel.Bias, re. RMSE
2 0.028, 0.16 0.05,0.17
(@] — —
0 o, g=05 . Nb=100.531
DH —
O. w
L S S
°1 KS: 0.81 |°] KS: 0.961
S 07 071 05 05 1o o0 07 os o0 o8 1o

0.6 0.8

0.4

Bias, RMSE rel.Bias, re. RMSE
0.012, 0.16 0.059, 0.71
Case [3]
2Nu=0.4 2Nm =80
KS: 0.607 51 KS: 0.752
A R T TR

rel.Bias, rel. RMSE
0.023, 0.16

rel.Bias, rel. RMSE
0.18, 0.59

1.0

ECDF of p—values
0.2

0.0

Case [2]

. 2Nu=0.4 R 2Nm =80
o’ KS: 0.138 [°] /7 KS: 0.00214
o c/SREEEEEEEEEEREERSEREES |-} & S S
(._5 0.0 0.2. 0.4 0.6 0.8 1.0 0.0 0.2. 0.4 0.6 0.8 1.0
7 rel.Bias, re. RMSE rel.Bias, re. RMSE
2 0.013,0.16 0.45, 0.9
o — —
0o, 9=05 . Nb=100531
D — —
(O .
W S S

1 KS: 0.001 |° KS: 0.155

00 02 04 06 08 10

00 02 04 06 08 10

0.6 0.8

0.4

Bias, RMSE rel.Bias, re. RMSE
-0.00013, 0.4 0.56, 1.81
Case [4]
2Npu=0.4 2Nm =80
KS: 0.79 51 KS: <le-12
R A R T R

rel.Bias, rel. RMSE
0.02, 0.16

rel.Bias, rel. RMSE
2.26,2.6




Case [5}2 N =008

2Nm =20

00 02 04 06 08 1.0
L 1 1 1 L L
00 02 04 06 08 10

0.0 0. 04 06 08 1.0

KS: <1e-12 |°

02 04 06 08
L L L L L
0. 04 06 08 10

0.0

0.0

S

0.0

" KS: 0.52 KS: <le-12
?E 0.0 02. 0.4 0.6 0.8 1.0 0.0 02. 0.4 0.6 0.8 1.0
< rel.Bias, re.RMSE  rel.Bias, re. RMSE
2 0.0091, 0.17 0.94, 1.09

(@] - —

Lo 9=025 Nb = 44.444

D —

O

IJJ

KS: 0.288

T T T T
.0 02 04 06 08 10

Bias, RMSE
-0.16, 0.2

o

Case [7] PNu=08

00 02 04 06 08 10
rel.Bias, re. RMSE
-0.07,0.2

2Nm =8

S

00 02 04 06 08
L L L L 1
00 02 04 06 08 10
0.0 0. 04 06 08

5

" KS: 0.199 KS: 0.0504
(O]

%% Ob Oé OQ 05 Oh 1b Qb Qé oh Qﬁ Qé 1b
< rel.Bias, re.RMSE  rel.Bias, re. RMSE
e 0.018, 0.15 0.061, 0.26

(@] - —

Lo g=0.25 Nb=17.7778

O —

O

I.IJ

KS: 0.618

02 04 06 08
L 1 L L L
02 04 06 08 10

KS: 0.395
dm 02 04 06 08 md
Bias, RMSE
-0.0055, 0.14
Case [9]
2Np=0.8

do dz d4 dﬁ dB ﬁo
rel.Bias, rel. RMSE
0.013, 0.33

2Nm =8

S

00 02 04 06 08
L L L L L
00 O 04 06 08 10

5

KS: 0.312

02 04 06 08
L 1 1 L L
02 04 06 08 10

0.0

0.0

8

0.0

" KS: 0.0224 s KS: 0.0721

(O]

%% Ob Oé Oﬁ Ob Oh lb dO dZ d4 dG dS 1b
7 rel.Bias, re.RMSE  rel.Bias, re. RMSE

e 0.055, 0.19 0.04, 0.19

S 9=0.25 Nb = 31.9146

C: —

O

L

KS: 0.833

00 02 04 06 08 10

Bias, RMSE
0.0066, 0.16

dO dz d4 de dB fO
rel.Bias, rel. RMSE
0.04, 0.5

Case [6]2 N 1 =0.08

2Nm =20

06 08 1.0

0.4

8

KS: 0.776

02 04 06 08

0.0

0.6

0.4

5

" KS: 0.212 KS: 0.995
?E 0.0 02. 0.4 0.6 0.8 1.0 0.0 02. 0.4 0.6 0.8 1.0
= rel.Bias, re.RMSE  rel.Bias, re. RMSE
2 0.011, 0.18 0.15, 0.41

(@] - _

L o, g=0.25 . Nb = 44.444

D - —

U =]

L S

KS: 0.888

T T T T
.0 02 04 06 08 10

Bias, RMSE
-0.023, 0.14

o

Case [§] 2 Nu=08

00 02 04 06 08 10
rel.Bias, re. RMSE
—-0.0038, 0.25

2Nm =8

S

06 08 1.0

0.4

N

" KS: 0.634 KS: 0.0579
(] o
%g Ub Ué Oﬁ Ok Oé LO dO dZ d4 dﬁ Ok 1b
7 rel.Bias, re. RMSE rel.Bias, re. RMSE
2 0.041, 0.17 0.069, 0.19
S g=05 ) Nb =48
C) =N -
Olﬂ L]
W S S
51 KS: 0.0973 |°] KS: 0.38
0 o2 0i 05 o5 1o oo o2 04 o5 o 1o
Bias, RMSE rel.Bias, re. RMSE
-0.017,0.11 0.074, 0.45
Case [10;
Np=08 i 2Nm=8
w°) KS: 0.197 |°] KS: 0.419
[ORSH =y
%g Ub Ué Oﬁ Ok OE iO dO dZ d4 dﬁ Oﬁ 1b
- rel.Bias, re. RMSE rel.Bias, re. RMSE
2 0.045, 0.18 0.034,0.17
S g=05 _ Nb=100531
CD - -
O L]
L S

KS: 0.786

02 04 06 08

0.0

0.6

0.4

8

KS: 0.714

00 02 04 06 08 10

Bias, RMSE
-0.0021, 0.16

do dz OQ Oh Of 1b
rel.Bias, rel. RMSE
0.18, 0.89



Case [11;N 08
u=0.

2Nm =8

1.0

1.0

KS: 0.00521

02 04 06 08
L L L L L

0.0

0.0

0.6

0.4

S

0.0

o°) KS: 0.112 |°] KS: 0.444
% 3t : : ‘ : J3t : ‘ : : :
C_U 0.0 0.2. 0.4 0.6 0.8 1.0 0.0 0.2. 0.4 0.6 0.8 1.0
< rel.Bias, re.RMSE  rel.Bias, re. RMSE
2 0.022, 0.17 0.051, 0.18
S 9=0.75 _ Nb=562973

O — —

U =]

L S

KS: 0.00289

T T T T
.0 02 04 06 08 10

Bias, RMSE
0.0027, 0.19

o

Np=0.8

00 02 04 06 08 10
rel.Bias, re. RMSE
0.75, 2.51

2Nm =8

Case [13;

<«
=]

00 02 04 06
L L L L

06 08 1.0

0.4

0.0 0. 04 06

T <le-12

0.0

04 0.6

S

0.0
0.0

" KS: 0.178 KS: 0.2
C_ﬁ 0.0 0.2. 0.4 0.6 0.8 1.0 0.0 0‘2. 0.4 0.6 0.8 1.0
< rel.Bias, re.RMSE  rel.Bias, re. RMSE
e 0.039, 0.18 -0.028, 0.14
S g=1e-04 _ Nb=125708

Q — —

O L]

L S

KS: 0.345

02 04 06 08
L 1 L L L

.0 02 04 06 08 10

00 02 04 06 08 10

0.

Bias, RMSE rel.Bias, rel. RMSE

0.048, 0.096 -0.098, 0.23
Case [1@

N u=0.08 ) 2Nm =4

o’ KS: 0.532 |°] KS: 0.561
O < <]
('_:55 0:0 012 0‘,4 0‘,8 0‘,8 1‘,0 04‘0 0j2 0j4 0.‘6 0.‘8 1:0
7 rel.Bias, re.RMSE  rel.Bias, re. RMSE
E 0.023, 0.18 0.11, 0.23
S 9=0.25 _ Nb=15.9573
D - —
o L]
L S

KS: 0.495

02 04 06 08
L 1 1 L L

0.0

0.0

0.6

0.4

N

0.0

KS: 0.0661

00 02 04 06 08 10

Bias, RMSE
0.016, 0.15

0.‘0 0.‘2 0.‘4 0.‘6 0.‘8 1.‘0
rel.Bias, rel. RMSE
-0.064, 0.44

Case [12;’\l 08
u=0.

2Nm =8

1.0

0.0 0. 04 06 08

06 08 1.0

0.4

8

"<le-12

02 04 06 08

0.0

0.6

0.4

S

" KS: 0.311 KS: 0.583
('_U 0.0 0.2. 0.4 0.6 0.8 1.0 0.0 0.2. 0.4 0.6 0.8 1.0
= rel.Bias, re.RMSE  rel.Bias, re. RMSE
2 —-9e-04, 0.17 -0.0079, 0.22
5., g=1e-04 . Nb = 8.0024

D - -

O =]

L S

KS: 0.835

T T T T
.0 02 04 06 08 10

Bias, RMSE
0.056, 0.12

o

Nu=0.4

00 02 04 06 08 10
rel.Bias, re. RMSE
-0.096, 0.27

2Nm =80

Case [14;

@
=]

06 08 1.0

0.4

5

KS: 0.319

0.6

0.4

5

0.0

* KS: 0.566 KS: 0.583

('_U 0.0 0.2. 0.4 0.6 0.8 1.0 0.0 0.2. 0.4 0.6 0.8 1.0
7 rel.Bias, re.RMSE  rel.Bias, re. RMSE
2 0.02,0.16 0.22, 0.68

o — —

L o, g=05 . Nb =1005.31

DH —

O L]

L S

KS: 0.307

02 04 06 08

.0 02 04 06 08 10

00 02 04 06 08 10

0.
Bias, RMSE rel.Bias, rel. RMSE
0.007, 0.35 0.52, 1.66
Case [1@
N u=0.08 ) 2Nm=4
" °] KS: 0.214 51 KS: 0.00976
[ORSH =y
C_:; 0‘,0 0‘,2 0‘,4 0‘,6 0‘,8 le 04‘0 0.‘2 0.‘4 0:6 018 1‘,0
- rel.Bias, re.RMSE  rel.Bias, re. RMSE
2 0.029, 0.19 0.14, 0.25
o — —
L o, g=05 . Nb = 50.2655
D — —
O L]
L S

KS: 0.852

02 04 06 08

0.0

0.6

0.4

8

KS: 0.812

00 02 04 06 08 10

Bias, RMSE
0.0062, 0.17

0.‘0 0.‘2 0.‘4 O.‘G 0‘.8 1‘.0
rel.Bias, rel. RMSE
0.034, 0.69



Case [17;

) Nu=08 2Nm =8
o°) KS: 0.017 |°] KS: 0.163
s |- 3 L (T
C_U 0.0 0.2. 0.4 0.6 0.8 1.0 0.0 0.2. 0.4 0.6 0.8 1.0
< rel.Bias, re.RMSE  rel.Bias, re. RMSE
f_l 0.025, 0.18 0.029, 0.14
o — _
L o, g=0.75 ., Nb =224
D - -
O © ©
Ll s S

=1 KS: 0.757 |°] KS: 0.957

T T T T T T
00 02 04 06 08 10

T T T T T T
00 02 04 06 08 10

Bias, RMSE rel.Bias, re. RMSE
-0.0056, 0.081 0.13, 0.67
Case [1%J
N p=0.04

" °] KS: 0.745
2
S°e L T T T T T T T T T T T
C_ﬁ 0.0 0.2. 0.4 0.6 0.8 1.0 0.0 042. 0.4 0.6 0.8 1.0
< rel.Bias, re.RMSE  rel.Bias, re. RMSE
e 0.027,0.16 0.0092, 0.15
(@] - —
L o, 9=05 . Nb=100.531
O — —
O © ©
W S S

0.6
L

0.4
L

0.2
1

KS: 0.533

0.0
L

0.6

0.4

0.0

KS: 0.987

00 02 04 06 08 10

00 02 04 06 08 10

Bias, RMSE rel.Bias, re. RMSE
0.0034, 0.093 0.033,0.4
Case [21;
Np=0.4 . 2Nm =8
o’ KS: 0.102 |°] KS: 0.641
[ORS] o
('_:55 0:0 012 0‘,4 0‘,8 0‘,8 1‘,0 04‘0 04‘2 04‘4 0.‘6 0.‘8 1:0
7 rel.Bias, re. RMSE rel.Bias, re. RMSE
E -0.026, 0.16 0.039, 0.17
o - —
0 o, g=0.5 ., Nb =100.531
D - -
O. w
W S S
°1 KS: 0.777 |°] KS: 0.773

O.‘O 0‘.2 0‘.4 0‘.6 0‘.8 1‘.0
Bias, RMSE
-0.004, 0.16

0.‘0 0.‘2 0.‘4 0.‘6 0.‘8 1.‘0
rel.Bias, rel. RMSE
0.18, 0.82

0.2

ECDF of p—values

02 04 06 08

0.0

Bias, RMSE

-0.28, 0.31
Case [20;

Np=0.8

" °] KS: 0.342 |°]
[OR=R
S°h T T T T T
('_U 0.0 0.2. 0.4 0.6 0.8 1.0
7 rel.Bias, rel. RMSE
e 0.041, 0.19
o —
o g =0.99999
D —
O @
L 21

0.0

KS: 0.289

0.0

1.0

06 08

0.4

0.0

KS: <le-12

00 02 04 06 08 10

rel.Bias, re. RMSE

00 02 04 06 08 10

rel.Bias, re.RMSE

0.045, 0.17 2.39,2.73
g=05 . Nb =240
KS: 1.04e-09° KS: 0.527

T T T T T T
00 02 04 06 08 10

0.‘0’ 02 04 06 08 10
rel.Bias, re. RMSE
-0.06, 0.24

2Nm =8

06 08 1.0

0.4

0.0

KS: 0.0756

OJO 0.‘2 0.‘4 0:6 018 1‘.0
rel.Bias, rel. RMSE
0.073, 0.17

Nb =5.02647e+11

06 08 1.0

0.4

- 2.51e-04°]

0.0

: 5.9e-09

00 02 04 06 08 10

00 02 04 06 08 10

Bias, RMSE rel.Bias, re. RMSE
-0.051, 0.1 1.3e+08, 4.4e+08
Case [22;
Np=0.4 ) 2 Nm =80
w°) KS: 0.0495 |°] £ KS: 0.0012
[N =y
% 0‘,0 0‘,2 0‘,4 0‘,6 0‘,8 le 04‘0 0.‘2 0.‘4 0:6 018 1‘,0
- rel.Bias, rel. RMSE rel.Bias, rel. RMSE
o 0.0042, 0.16 0.43,0.9
o — —
L o, g=0.5 ., Nb = 1005.31
D - -
O © @
W S S
1 /'KS: 0.000152° KS: 0.0145

00 02 o4 o6 o5 1o
Bias, RMSE
-0.015, 0.41

0.‘0 0.‘2 0.‘4 O.‘G 0‘.8 1‘.0
rel.Bias, rel. RMSE
0.69, 1.94



1.0

ECDF of p—values

0.2

0.0

0.8

0.6

0.4

Case [23]
2Nu=0.4 2Nm =80
KS: 0.38 °] KS: 0.944
0:0 0‘,2 0.‘4 0‘,6 0.‘8 1‘,0 ° 04‘0 0‘,2 04‘4 016 0‘,8 1:0
rel.Bias, re.RMSE rel.Bias, re. RMSE
0.015, 0.15 0.14, 0.56
Case [25;
N p=0.08 2Nm =20

00 02 04 06 08 10
L L L L 1

04 06 08 1.0

0.2

:

0 02 04 06 08
L 1 L L L

0.6

0.4

8

" KS: 0.963 KS: <le-12
C_ﬁ 0.0 0.2. 0.4 0.6 0.8 1.0 0.0 042. 0.4 0.6 0.8 1.0
< rel.Bias, re.RMSE  rel.Bias, re. RMSE
e -0.016, 0.17 0.85,1

(@] - —

Lo g=0.25 . Nb = 44.444

O — —

O L]

L S

KS: <le-12 KS: 0.158
O o2 04 05 o5 1o oo o2 04 o5 o8 1o
Bias, RMSE rel.Bias, rel. RMSE
-0.17,0.2 -0.012, 0.2
Case [27;
i Nu=0.8 i 2Nm=8
w1/ Ks: 0.0678 |°] KS: 0.409
O < <]
c_:é 0:0 012 0‘,4 0‘,5 0‘,8 1‘,0 04‘0 04‘2 04‘4 0.‘6 0.‘8 1:0
7 rel.Bias, re.RMSE  rel.Bias, re. RMSE
E -0.034, 0.14 0.03, 0.23
o — —
2. g=0.25 . Nb=17.7778
D - -
8)
m

0 02 04 06 08
L 1 1 L L

06 0.8

0.4

0 02 04 06 08

KS: 0.531 KS: 0.712
e 07 04 s o5 1o o0 07 o0s o0 o8 1o
Bias, RMSE rel.Bias, re. RMSE
-0.018, 0.14 0.088, 0.38

1.0

ECDF of p—values

0.2

0.0

Case [24]

2Np=0.4

2Nm =80

0.8

N

0.6

0.4

0.8 1.0

0.6

0.4

N

KS: 0.835 ° KS: <le-12
0.0 04‘2 014 04‘6 018 1.0 ° 0.0 0‘,2 04‘4 0‘,6 04‘8 1.0
rel.Bias, reRMSE rel.Bias, re. RMSE
0.016, 0.16 2.2,2.55
Case [2@
O Npu=008 2 Nm =20

o°) KS: 0.241 |°] KS: 0.302
el e
c_u 0.0 0.2. 0.4 0.6 0.8 1.0 0.0 0.2. 0.4 0.6 0.8 1.0
7 rel.Bias, rel. RMSE rel.Bias, rel. RMSE
E- -0.022, 0.17 0.11, 0.38
S g=0.25 ) Nb = 44.444
Dl—i’ -
O:n @
W S S
°] KS: 0.888 |°] KS: 0.952
00 o2 0i 05 o5 1o oo o2 04 o5 o 1o
Bias, RMSE rel.Bias, rel. RMSE
-0.034, 0.14 0.072, 0.27
Case [28;
i Nu=0.8 i 2Nm =8
w°) KS: 0.542 |°] KS: 0.387
el e
E 0.0 0,2. 0.4 0.6 0.8 1.0 0.0 0.2. 0.4 0.6 0.8 1.0
- rel.Bias, rel. RMSE rel.Bias, rel. RMSE
E- -0.015, 0.16 0.043, 0.17
S g=05 B Nb =48
D.—i’ —
O
L

06 0.8

0.4

8

KS: 0.254 KS: 0.387
e 07 04 s o5 1o oo 07 o0s o0 o8 1o
Bias, RMSE rel.Bias, re. RMSE
-0.022, 0.11 0.12,0.5




Case [29;N 08
u=0.

2Nm =8

1.0

00 02 04 06 08
L 1 1 1 L L
00 02 04 06 08 10

5

KS: 0.886

02 04 06 08
L L L L L
02 04 06 08 10

0.0

0.0

8

" KS: 0.154 KS: 0.067
?E 0.0 02. 0.4 0.6 0.8 1.0 0.0 02. 0.4 0.6 0.8 1.0
< rel.Bias, re.RMSE  rel.Bias, re. RMSE
2 -0.0022, 0.17 0.027,0.18

(@] - _

Lo 9=025 Nb =31.9146

D«—t

O

IJJ

KS: 0.277

T T T T
.0 02 04 06 08 10

Bias, RMSE
-0.0045, 0.16

o

Np=0.8

00 02 04 06 08 10
rel.Bias, re. RMSE
0.11, 0.55

2Nm =8

Case [3 1;

<«
=]

00 02 04 06
L L L L
0.0 0. 04 06 08 1.0

0.0
0.0

KS: 0.00343|°]

S

w KS: 0.0662 |° KS: 0.431
?E 0.0 02. 0.4 0.6 0.8 1.0 0.0 02. 0.4 0.6 0.8 1.0
< rel.Bias, re.RMSE  rel.Bias, re. RMSE
e -0.022, 0.17 0.04, 0.19

S 9=0.75 Nb = 562.973

Qei

O

LIJ

KS: 0.00429

02 04 06 08
L 1 L L L
0. 04 06 08 1.0

.0 02 04 06 08 10

0.
Bias, RMSE
-0.00036, 0.2
Case [33;
Np=0.8

do dz d4 dﬁ dB ﬁo
rel.Bias, rel. RMSE
0.92,2.9

2Nm =8

“

@ |
=]

00 02 04 06
L L L L
00 O 04 06 08 10

>

~Z{e-12|°

02 04 06 08
L 1 1 L L
0. 04 06 08 1.0

0.0

0.0

S

" KS: 0.00422 51 KS: 0.461
(O]

%% Ob Oé Oﬁ Ob Oh lb dO dZ d4 dG dS 1b
7 rel.Bias, re.RMSE  rel.Bias, re. RMSE
e -0.023, 0.16 -0.053, 0.14
S g=1e-04 Nb = 12.5708

C: —

O

L

KS: 0.0206

00 02 04 06 08 10

Bias, RMSE
0.041, 0.088

dO dz d4 de dB fO
rel.Bias, rel. RMSE
-0.054, 0.22

ECDF of p—values

0.8

Case [30;

06 08 1.0

0.4

0.2

0.0

1.0

02 04 06

0.0

Nu=0.8

2Nm =8

KS: 0.33

06 08 1.0

0.4

0.0

8

KS: 0.891

Ob Oé OQ Ok Oé lb
rel.Bias, re. RMSE
-0.0049, 0.17

g=05

dO dZ Oh Ob 03 1b
rel.Bias, re.RMSE
0.023,0.16

Nb =100.531

KS: 0.944

N

0.0

1.0

06 0.8

0.4

8

KS: 0.787

T T T T
00 02 04 06 08 10

00 02 04 06 08 10
rel.Bias, re. RMSE
0.27,1.01

2Nm =8

06 08 1.0

0.4

0.0

8

KS: 0.605

dO dZ Oh Ob OE 1b
rel.Bias, rel. RMSE
-0.034, 0.22

Nb =8.0024

Bias, RMSE

-0.011, 0.17
Case [32;

Np=0.8

* °] KS: 0.513
[OR=R
S°h T T T T T
?E 0.0 02. 0.4 0.6 0.8 1.0
7 rel.Bias, re. RMSE
2 -0.01, 0.17
o —
L o, g=1e-04
D —
() @
L 3

02 04 06

0.0

N

"<le-12

1.0

0.8

S

0.6

0.4

0.0

KS: 0.944

00 02 04 06 08 10

do dz Og Oh Ok 1b
rel.Bias, rel. RMSE
-0.068, 0.27

2Nm =80

06 08 1.0

0.4

0.0

5

KS: 0.621

dO dZ Oh Oh Oﬁ 1b
rel.Bias, rel. RMSE
0.2, 0.67

Nb =1005.31

Bias, RMSE

0.055, 0.12
Case [34;

Np=0.4

" °] KS: 0.658
[OR=R
S°h T T T T T
?E 0.0 02. 0.4 0.6 0.8 1.0
- rel.Bias, rel. RMSE
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